## Project Name Pavement Resurfacing - Moorpark Area Spec. No. RD24-02 Abstract of Bids opened on July 27, 2023

ENGINEER'S ESTIMATE: 1,600,000.00

LOW BIDDER - Granite Construction Company Ventura, CA 93003	1,892,718.00
2nd Bidder - Toro Enterprises, Inc. Oxnard, CA 93031	1,985,211.00
3rd Bidder - Onyx Paving Company, Inc. Anaheim, CA 92806	2,345,000.00

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, 'County of Ventura at the time and place designated in the Notice Inviting Bids; were publicly opened and read; and were checked.

Director, Engineering Services Department

Copies: Director PWA, PM: \_Terry Hanser\_\_\_\_

Bids o	pened on July 27, 2023			ENGINEER'S	ESTIMATE	LOW BIDDER	
Projec	Name Pavement Resurfacing - Moorpark Area		Granite Construction Company 4820 McGrath Street #101 Ventura, CA 93003				
	Spec. No. RD24-02			[,			
NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1	105,000.00	105,000.00	106,500.00	106,500.00
2	Traffic Control & Construction Signing	LS	1	117,335.00	117,335.00	74,500.00	74,500.00
3	Water Pollution Control	LS	1	8,000.00	8,000.00	5,505.00	5,505.00
4	Surface Preparation & Crack Treatment	LS	1	75,000.00	75,000.00	94,100.00	94,100.00
5	Cold Milling (5' Wide)	LF	12380	2.00	24,760.00	1.85	22,903.00
6	AC Taper With Key	SF	7845	1.00	7,845.00	0.60	4,707.00
7	AC Base Repair	TN	192	300.00	57,600,00	245.00	47,040.00
8	Seal Coat	LF	10810	2.00	21,620.00	1.90	20,539.00
9	Asphalt Rubber Aggregate Membrane (ARAM)	SY	24800	7.00	173,600.00	6.65	164,920.00
10	Asphalt Rubber Hot Mix (ARHM)	TN	5900	130.00	767,000.00	185.00	1,091,500.00
11	AC Miscellaneous Paving	TN	80	350.00	28,000.00	410.00	32,800.00
12	Shoulder Backing	MI	6.08	8,000.00	48,640.00	12,800.00	77,824.00
13	Install Traffic Count Station	EA	1	9,000.00	9,000.00	9,500.00	9,500.00
14	Traffic Loop Replacement & Installation	EA	33	1,000.00	33,000.00	550.00	18,150.00
15	Survey Monument Frame Adjust & Replace	EA	3	1,200.00	3,600.00	4,010.00	12,030.00
16	Pavement Delineation, Striping & Signing	LS	1	120,000.00	120,000.00	110,200.00	110,200.00
	TOTAL				1,600,000.00		1,892,718.00

Copies: Director PWA, PM: \_Terry Hanser\_\_\_

Bids o	pened on July 27, 2023	2nd Bidder		3rd Bidder	
Projec	t Name Pavement Resurfacing - Moorpark Area			Ave.	
	Spec. No. RD24-02				
ITEM				I	
NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	177,000.00	177,000.00	222,000.00	222,000.00
2	Traffic Control & Construction Signing	177,000.00	177,000.00	333,000.00	333,000.00
3	Water Pollution Control	20,000.00	20,000.00	15,266.00	15,266.00
4	Surface Preparation & Crack Treatment	114,000.00	114,000.00	96,000.00	96,000.00
5	Cold Milling (5' Wide)	2.80	34,664.00	4.00	49,520.00
6	AC Taper With Key	1.80	14,121.00	2.00	15,690.00
7	AC Base Repair	355.00	68,160.00	444.00	85,248.00
8	Seal Coat	1.20	12,972.00	2.00	21,620,00
9	Asphalt Rubber Aggregate Membrane (ARAM)	6.89	170,872.00	7.77	192,696.00
10	Asphalt Rubber Hot Mix (ARHM)	159.00	938,100.00	150.00	885,000.00
11	AC Miscellaneous Paving	345.00	27,600.00	555.00	44,400.00
12	Shoulder Backing	8,400.00	51,072.00	27,000.00	164,160.00
13	Install Traffic Count Station	11,000.00	11,000.00	13,000.00	13,000.00
14	Traffic Loop Replacement & Installation	650.00	21,450.00	800.00	26,400.00
15	Survey Monument Frame Adjust & Replace	3,400.00	10,200.00	3,000.00	9,000.00
16	Pavement Delineation, Striping & Signing	137,000.00	137,000.00	172,000.00	172,000.00
	TOTAL		1,985,211.00		2,345,000.00

rom unit price M=Modified b bidder

Copies: Director PWA, PM: \_Terry Hanser\_\_\_

Bids of	pened on July 27, 2023	4th Bidder		
Project	Name Pavement Resurfacing - Moorpark Area			
1	Spec. No. RD24-02	=		
ITEM NO.	ITEM	UNIT PRICE	TOTAL	
1	Mobilization			
2	Traffic Control & Construction Signing			
3	Water Pollution Control		5	
4	Surface Preparation & Crack Treatment			
5	Cold Milling (5' Wide)		5	
6	AC Taper With Key		5	
7	AC Base Repair			
8	Seal Coat			
9	Asphalt Rubber Aggregate Membrane (ARAM)		8	
10	Asphalt Rubber Hot Mix (ARHM)		74	
11	AC Miscellaneous Paving			
12	Shoulder Backing			
13	Install Traffic Count Station		25	
14	Traffic Loop Replacement & Installation		¥.	
15	Survey Monument Frame Adjust & Replace		*	
16	Pavement Delineation, Striping & Signing TOTAL		0.00	

Copies: Director PWA, PM: \_Terry Hanser\_\_\_\_

Spec. No. RD24-02 Project No. 50633

## LIST OF SUBCONTRACTORS

CONTRACTOR NAME:	Granite Construction Company

Listing shall comply with the provisions of California Public Contract Code. Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
Pavement Rehab Company	1051374	1000064823	2890 E. La Cresta Ave, Anaheim, CA 92086	4 - Cracksealing
Taft Electric Company	772245	1000000149	P.O. Box 3416, Ventura, CA 93003	13, 14 - Traffic Counter Loops
Chrisp Company	374600	1000000306	43650 Osgood Rd, Freemont, CA 94539	16 - Striping & Signs
American Pavement Systems, Inc.	943792	1000000207	1012 11th St, Modesto, CA 95354	9 - ARAM

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

County of Ventura,	Public Works	Agency
Subcontractor List		-

## **LIST OF SUBCONTRACTORS**

**CONTRACTOR NAME:** TORO ENTERPRISES, INC.

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
Taft Electric Company Pavement Reheb	292245	1000000149	1694 Eastman Ave Ventura, CA 9303	13,14
Company	1051374	1000064823	2890 15. La Cresta Ave Ancheim CA 92811	P4
American Pavenent Systems, Fre.	9437-62	1000000 207	1012 11th Street Modesto, EA 95354	, 1,2,9

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

Page	of	
------	----	--